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Test 1

The time for this test is 1 hour and 45 minutes. Remember to use correct notation for full marks.

Question 1. (8 marks) Simplify the following expressions. Write your final answer as a single
fraction with positive exponents only.
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Question 2. Find the following limits if they exist.
(a) (2 marks)
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Question 3. (5 marks) Where are the following function continuous. (Explain your reasoning
using the conditions for continuity)

3x2—2 if x<2
fx)= 11 if x=2
3x+4 if x>2
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Question 4. (5 marks) Use the limit definition of the derivative to find S (x) given
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Question 5. Find the derivatives of the following functions. Express your final answer with posi-
tive exponents.
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(b) (3 marks)
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Question 6. (4 marks) Find the points on the graph of f (x) = x> —3x+5 where the tangent line is

horizontal.
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Question 7. (5 marks)
(a)) State where f(x) is is discontinuous and why (state which condition of continuity it faﬂs)
(b)) State where f(x) is not differentiable and why
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